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DO NOT BEGIN WORKING 

UNTIL THE INSTRUCTOR TELLS YOU TO DO SO.

READ THESE INSTRUCTIONS FIRST
You have 75 minutes to complete the exam, which consists of 4 problems ( Part I ) and 20 multiple-choice questions (Part II). Each problem  is worth 10 points for a total of 40 points, and each multiple-choice question is worth 3 points for a total of 60 points. This exam has 10 pages.

Please answer Part I on this test booklet making sure that your answers are legible, and that you are using complete sentences. Show all work and formulas used. Your explanations will determine the grade.

Please answer Part II on your coding sheet with a #2 pencil. Choose the best answer from the five alternatives offered.  Be sure to fill in the coding sheet carefully and accurately.

How to fill in the coding sheet:
1. Print your last name, first name and middle initial in the spaces marked “Last Name,”“First name,”and 
“MI.”   Fill in the corresponding bubbles below.

2.  Print your student ID number in the spaces marked “ Identification Number.”  Fill in the 
corresponding 
bubbles below.

3. Write your discussion section number under “Special Codes” spaces ABC, and fill in the bubbles.

4. Write your version number under “Special Codes” space D and fill in the corresponding bubble.

Discussion sections are as follows:
Deena Ackerman

301
11.00 R

Charles Wassell, Jr.
302
11.00 R


305
  1.20 R




311
  9.55 F

310
  9.55 F




341
12.05 R





313
11.00 F




346
  8.50 F


314
12.05 F




349
11.00 F


Jaeho Cheung

306
  1.20 R

Badal Malick

304
12.05 R


307
11.00 R




308
  8.50 F


345
  2.25 R




344
  2.25 R


350
11.00 F




347
  9.55 F


351
12.05 F




354
  1.20 F

Costin Borc

340
12.05 R

342
  1.20 R

352
12.05 F


If you have any questions during the exam, stay seated and raise your hand.

When you are finished, please get up quietly and bring your code sheet and this exam booklet to the place indicated by the instructors.

Stop, take a deep breath, and think carefully before you answer any questions. There are no intentional “tricks”; however, not all answers are intended to be obvious. Good luck!
Part I. Problem Type Questions (4 problems at 10 points each for a total of 40 points)
1. Suppose Mark borrows $1000 from Jane and agree to pay back $1450 in one year. Use the complex Fisher equation when necessary to answer this question.

a) (2 pts.)What is the nominal interest rate?

b) (2 pts.) Mark anticipates the price level will rise by 20% during the year. What real interest rate does he expect to pay?

c) (2 pts.) Jane thinks inflation will be 10% during the year. What real interest rate does she expect to receive?

d) (2 pts.) Actual inflation rate turns out to be 8%. Who is better off (Mark or Jane)? Briefly, why?

e) (2 pts.) Suppose Mark wants a real rate of interest equal to 10%. If inflation is 10%, how much should his total payment be at the end of the year?

2. Consider an economy that is open to foreign trade and is described by the following model:

C = 100 +.9 Yd,
where

Yd = disposable income,

I  = 25,




I = investment,

G = 80,



G = government spending,

T = 50,




T = taxes,
Yd = Y -T,



X = exports,
X = 25,



M = imports,
M = 50,



C = consumption,

Y = income.

a. (2 pts.) What is the equilibrium value of income?

b. (3 pts.) Show that in equilibrium, leakages equal injections. (Calculate the equilibrium values for all the leakages and all the injections in this economy.)

c. (3 pts.) If aggregate income is 1300, what will be the change in inventories?

d. (2 pts.) If  lump-sum taxes increase by 12, what will be the change in equilibrium output?

3. Use the following data for two different years for an economy that produces and consumes bicycles and books to answer the questions.


Year 2001
Year 2013

Price of a bicycle
$800
$1000

Price of a book
$25
$35

Number of bicycles produced
200
250

Number of books produced
4000
3000

a. (3 pts.) What is the nominal GDP in year 2001?

b. (3 pts.) If year 2001 is used as the base year, what is the real GDP in 2013?

c. (4 pts.) There are a number of problems associated with fixed-weight price indexes. Please state and briefly discuss at least two of these problems.

4. The small resort town of Montagna has a population of 3000.  The population of juveniles (under the age of 16) is 300.  There is a small military base with 100 military personnel. Montagna has a mental institution, and there are 20 persons in this institution. The number of retirees in Montagna is 500.  Montagna generally has two well-defined seasons. In the summer 425 residents are outdoor adventure guides. 300 residents are currently out of work as they change jobs, and 150 individuals have been laid off as a result of technology-related obsolescence.  The remainder of the civilian labor force is employed.  Assume that it is currently January and that Montagna is located in the Northern Hemisphere.  Answer the following questions with respect to the current situation in Montagna.

a)  (2 pts.)  What is the civilian labor force participation rate in percentage terms?

b)  (2 pts.)  What is the frictional rate of unemployment in percentage terms?

c)  (2 pts.) What is the natural rate of unemployment in percentage terms?

d)  (2 pts.)  What is the seasonal rate of unemployment in percentage terms?

e)  (2 pts.)  What is the total civilian unemployment rate in percentage terms?

Part II. Multiple choice questions (20 questions at 3 points each, for a total of 60 points)

1.  Which of the following points best characterizes Classical models of the macro economy?

a)  No inflation.

b)  An upward-sloping AS curve.

c)  The economy tends toward full employment.

d)  Horizontal AS curve.

e)  Fiscal policy can be used to increase equilibrium output.

2. Consider that the economy is described by a three sector model, like the one presented in class. Assume there is no foreign sector .An equivalent change in taxes and in government spending will leave the budget deficit unchanged.  This increase in taxes and government spending will:

a)  have no effect upon the economy.

b)  increase the output by the same amount as the initial change in G or T.

c)  have an indeterminate effect. We need more information to answer this question.

d)  decrease the output by the same amount as the initial change in G or T.

e)  increase the output by more than the initial change in G or T.

3.  Suppose planned C + I + G + (X - M) exceeds actual output in a particular period.  Which of the following best characterizes the behavior of this economy out of equilibrium?

a)  Inventories will increase and there will be pressure for Y to decrease.

b)  Inventories will increase and this acts as a signal to producers to produce more.

c)  Inventories will decrease and there will be pressure for Y to increase.

d)  Inventories will decrease and producers will cut back production.

e)  The effect on production and inventories is indeterminate.

4.  Which of the following is NOT a determinant of aggregate demand?

a)  Interest rates.

b)  Population size and growth rate.

c)  Money demand.

d)  Technological progress.

e)  Domestic tax policy.

5.  If the economy is at full employment, then :

a)  the entire labor force is employed.

b)  the only unemployment is frictional unemployment.

c)  the only unemployment is frictional and structural unemployment.

d)  the only unemployment is frictional, structural and cyclical unemployment.

e)  the unemployment rate is less than 3 percent.

Use the following simple Keynesian model to answer questions 6 to 9

C = 100 +.8 Yd
I  = 140

G = 200

T = 100 +.2 Y
6. What is equilibrium level of income?

a)  1000

b)  1200

c)  888.88

d)  900

e)  500

7. In this model, the slope of the aggregate expenditure as a function of income is:

a)  .8

b)  .75

c)  .6 

d)  .64

e)  .16

8. The consumption function’s vertical-axis intercept with respect to aggregate income is:

a)  100

b)  140

c)  20

d)  40

e)  80

9.  At what level of aggregate income, Y,  is saving equal to zero?

a) Y =1000.

b) Y = 750.

c) Y = 900.

d) Y = 800.

e) Y = 825.

10. Nominal GDP in year 5 is $250. Nominal GDP in year 7 is $500. There was inflation in years 5, 6, and 7. If the quantity of goods produced in year 5 is 60, then the quantity of goods produced in year 7 :

a)  is definitely more than 60.

b)  could be more or less than 60.

c)  is definitely less than 60.

d)  is more than 45.

e)  is more than 200.

11. Which of the following indicators is a lagging indicator of an expansion or a recession?

a)  Number of employees on non-agricultural payrolls.

b)  Personal income.

c)  Industrial production.

d)  Layoff rates in manufacturing sector.

e)  Average duration of unemployment.

12. Which of the following statements is always true?

a)  If an economy has a high rate of inflation, nominal GDP next year will be higher than nominal GDP this year.

b)  Inflation is harmful to wage earners in a country.

c)  Real GDP is usually constant over time.

d)  It is best to use the most recent base year when computing real GDP.

e)  None of the above are always true.

13. Assume taxes are autonomously given, and constant. If the marginal propensity to consume with respect to disposable income is .75, the government spending multiplier will be :

a)  6

b)  4.5

c)  4

d)  3.3

e)  1.3

14. Holding everything else constant, which of the following phenomena is least likely to result in inflation?

a)  Expectations of higher prices in the future.

b)  An increase in aggregate demand due to population growth.

c)  An increase in production due to technological progress.

d)  A decrease in aggregate supply due to an oil-price hike.

e)  An increase in money supply by the Federal Reserve.

15. Suppose the level of output of an economy (Y) is initially at $2400. Assume taxes are autonomously given, and constant. This is not a full employment level of Y. Suppose the full employment level of Y would be $3200. If the MPS with respect to disposable income is .6, how much would the government spending have to change in order for the economy to move to the full employment level of Y? The government spending must :

a)  increase by $ 320.

b)  increase by $ 480.

c)  increase by $ 167.

d)  decrease by $ 480.

e)  decrease by $167.

Use the following information to answer questions 16 and 17.

Suppose Katherine has a linear consumption function. Taxes are 20% of her gross income. When her disposable income is $8,000, she spends all of her disposable income. When her gross income equals $20,000, she saves $2,000. 

16. What is the implied marginal propensity to consume for Katherine?

a)  .75

b)  .65

c)  .8

d)  .85

e)  .7

17. What is her consumption at the gross income level of  $30,000?


a)  18,500


b)  19,000

c)  20,000


d)  25,000


e)  28,500

18. Jeanne was working near San Francisco for the defense industry, but after the Cold War ended she became unemployed. While she was actively looking for a job, we could identify her form of  unemployment as :

a)  cyclical unemployment.

b)  structural unemployment.

c)  frictional unemployment.

d)  job leaver.

e)  re-entrant.

19. Which of the following is true about the circular flow diagram?

a)  Saving is a leakage, and taxes are an injection.

b)  Taxes are a leakage, and exports are an injection.

c)  Investment is a leakage, and saving is an injection.

d)  Exports are a leakage, and imports are an injection.

e)  Government spending is a leakage, and investment is an injection.

20. Which of the following is NOT a hypothesis of  the pure Keynesian model?

a) Wages and prices are flexible.

b) There are monopolistic elements in the economy.

c) The level of output might not equal the full employment output.

d) Aggregate Demand is downward sloping.

e) The short-run Aggregate Supply curve is horizontal.
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Problem 3 __________________
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